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QUESTION 1

Server Load Balancer can manage sudden spikes in traffic, minimize response time and maintain 99.99% availability of
your web application.

A. TRUE
B. FALSE
Correct Answer: A

Manage sudden spikes in traffic, minimize response time and maintain 99.99% availability of your web application with
Server Load Balancer. Reference: https://arcelon.co.id/product/server_load_balancer.php

QUESTION 2

Your website has high volume of traffic and sudden spikes for a very short time. In this scenario, can
manage traffic peak efficiently and maintain a consistent user experience.

A. Server Load Balancer
B. Auto Scaling

C.RDS

D. VPC

Correct Answer: B

Reference: https://www.alibabacloud.com/blog/designing-a-cloud-based-architecture-for-internet-ofvehicles-iov-series-
ii_594263

QUESTION 3

ECS can be used along with ___ to store static images, videos, and reducing storage fees.
A. 0SS

B. Server Load Balancer

C.RDS

D. VPC

Correct Answer: A

Reference: http://static-aliyun-doc.oss-cn-hangzhou.aliyuncs.com/download/pdf/DNA0011858383_enUS _intl_19032013
2947 public_91775d442a4b315acafch25df8bcc84f.pdf
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QUESTION 4

Auto Scaling can automatically remove unhealthy ECS instances from the scaling group (this feature is called Elastic
Self-Health). Yet, after removal, the user has to manually add equivalent amount of new ECS instances back to the
scaling group.

A. TRUE

B. FALSE

Correct Answer: A

QUESTION 5

A customer uses Alibaba Cloud Auto Scaling service and creates a scaling group. He/she sets the "Minimum number of
instances" to 6 and "Maximum number of instances" to 8.

After correctly configuring scaling settings, the customer adds a scaling rule "Remove 5 ECS instances”, and creates a
scheduled task based on this rule.

And then, the customer checks the scaling group and see it already contains 8 valid ECS instances, he/ she then
enables this scaling group immediately.

How many ECS instances are left in the scaling group when the scheduled task is activated once?
A. One

B. Six

C. Zero

D. Five

Correct Answer: C

QUESTION 6

In which of the following cases would you need to apply an ICP license? (Choose three.)
A. Accelerate your Overseas Website in China

B. Launch your website in China

C. Launch your online shop in China

D. Open your office in China

Correct Answer: BCD

Reference: https://www.alibabacloud.com/icp
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QUESTION 7

A video streaming company uses SLB to distribute user requests to 30 ECS instances (the 30 ECS instances have the
same configuration). Yet, the company finds that the service traffic soars dramatically every night from 20:00 to 02:00.
According to their calculation, the evening traffic is 100% higher than the traffic in other periods of time. To properly
respond to user requests, which of the following methods is most preferred from the perspective of cost and
implementation simplicity?

A. Configure Auto Scaling appropriately to automatically add or reduce ECS instances.

B. Manually create 30 ECS instances using the custom image, and then add them to SLB every night before 20:00 and
remove them after 02:00.

C. Create 30 ECS instances based on the custom image and add them to SLB. Then, configure weights for these ECS
instances to respond to user requests every night from 20:00 to 02:00, and reset those weights to zero for other periods
of time.

D. Configure Auto Scaling appropriately to automatically upgrade/downgrade the ECS instances.

Correct Answer: A

Reference: https://www.alibabacloud.com/product/auto-scaling

QUESTION 8

An enterprise hosts their servers (include both Linux and Windows servers) in a traditional IDC. Every night hackers with
IP addresses from many countries try to crack the password of their servers, making the administrator terribly worried
about this. However, because of work requirements, the remote management port of these servers must be opened to
public network.

The administrator heard that Alibaba Cloud has solutions that can help customers improve the security of their systems.
Therefore, he/she wants to migrate the system to Alibaba Cloud. Which of the following functions should the
administrator activate in Alibaba Cloud to reduce the possibility of brute force password cracking?

A. CloudMonitor

B. Server Guard

C. Anti-DDoS Basic Service

D. Situation Awareness

Correct Answer: B

Reference: https://www.alibabacloud.com/blog/blogblogalibaba-cloud-server-guard-a-
comprehensiveassessment_284390

QUESTION 9

Alibaba Cloud does not support Intranet communication between products that are not in the same region, which does
not mean ?

A. ECS instances in different regions cannot communicate with each other on the intranet.
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B. ECS instances and other products in different regions, such as ApsaraDB for RDS and OSS instances, cannot
communicate with each other on the intranet.

C. Server Load Balancer cannot be deployed for ECS instances in various regions.
D. Server Load Balancer can be deployed for ECS instances in various regions.
Correct Answer: B

Reference: https://www.alibabacloud.com/help/doc-detail/40654.htm

QUESTION 10

Alibaba Cloud China Connect is a service that can help international companies do business in China. Which of the
following services is not included in China Connect?

A. Web hosting

B. ICP Support

C. Office registration support

D. Connect your service with Alibaba Group ecosystem

Correct Answer: D

QUESTION 11

Auto Scaling is a management service that can automatically adjust elastic computing resources based on your
business needs and policies. It supports adding an existing ECS instance into the scaling group but imposes certain
requirements on instance region. In this case, which of the following statements is true?

A. The instance and the scaling group must be in the same region but not necessarily the same zone.

B. The instance and the scaling group must be in the same region and zone.

C. The instance and the scaling group can be in different regions and zones.

D. Each scaling group can span up to two regions. After adding the ECS instance, the number of regions of all the ECS
instances in the scaling group must be no greater than two.

Correct Answer: B

QUESTION 12

Your friend purchases some Alibaba Cloud resources and uses them to build an online training website. Before the site
goes online, your friend wants to perform some performance tests but doesn\\'t know how to do it. In this case, which of
the following services can help?

A. After-Sales Support Service
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B. Support Ticket Service

C. Load and Performance Testing Service
D. None Of The Above

Correct Answer: A

Reference: https://www.alibabacloud.com/support/after-sales

QUESTION 13

SQL injection is a common application layer attack, usually through building special input parameters and pass it to web
applications to steal or sabotage the application data. Which of the following is the target for SQL injection?

A. Web application

B. Database

C. Confidential files on the server
D. Pictures on server

Correct Answer: B

Reference: https://www.rapid7.com/fundamentals/sql-injection-attacks/

QUESTION 14

Which of the followings are not the operations that you can do on a cloud disk snapshot? (Choose two.)
A. snapshot duplicate

B. snapshot rollback

C. snapshot download

D. snapshot deletion

Correct Answer: AC

Reference: https://www.alibabacloud.com/help/doc-detail/52045.htm#section-1ff-9s6-3i5

QUESTION 15
Which method is not supported by OSS to create a bucket?
A. through OSS API/SDK

B. through ECS instance filesystem directory operation
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C. through oss cmd tool
D. through cloud console

Correct Answer: C
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